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Attempt any SIX parts: FBD - - | :.E.,’-"_—U’HZI{.:. '
Define inverse proportion. q:— :L wsf":'-!‘/'"LfLﬁG’ (i)

Ifa:b=2:3, find the ratio of 6a : 5b -._-:’,J:‘[‘!{"‘ 6a:5bHa:b=2:3) (i1)

The price of 20 pens is Rs. 2000. What will be the price of 40 such pens? TJ:fl_{r:.-fJu:‘Fd{] c_;.f?u:fid‘;.uiﬂﬂﬂrh 20 (iii)

...g-'fr#;{;aruﬁuuuun JfLJ‘;JJ:gaﬁlf;;.éungﬁ (iv)

Calculate Ushr on a rice crop produced by natural resources amounting to Rs. 600000,

Calcuate the amount of Zakat on an amount of Rs. 500000. _5‘;:5.’(}” Fﬁ{({uﬁ;’_uﬂ]ﬂﬂﬂﬂ (v)
- A g&??:l;.t'lgﬁiyéﬁf{;_uld?ﬂ fw_f.._ﬁﬁq’_.{ii_f.,}"bc? %K.gﬁ.:..é (vi)

Find the cost price, if a fan is sold for Rs. 1470, to get #orofit.of %th of its cost price.

Find the selling price when MP = Rs. 2760 , dhcﬁungfﬁ%. L =..".;-:{.uld!....u2'?60=c:.-f nﬁ&,;;.ﬁ_c‘,{.' r':"‘"'.:-i:,j-.:.-f (vii)

ednt Sl L3 0 e B e rtuain y Frnf E;:-i;;:,:-_gr;;}'ﬁo:..éz-,;;{&_ﬂ_g (viii)

The marked price of a toy is Rs. 750 and 2% discount is offered on cash payment. What cash payment one should
pay for the toy?

Define fixed account. Y /;U-‘-" 6130 (ix)
Attempt any SIX parts: g-fdﬁlz !{:.Jf
Define current account. -5‘,-’-: - ;Jdﬁifl&/ (i)
What is meant by tax? ‘E‘.-;_Jygf.-;.a? (i1)

_gifﬂ-'ﬁ_rgﬂ-’.-.-_.c,;d 16%4U1 - -d,3500 =d S EELL (i)

The price of a bicycle is Rs. 3500. Find sales tax at the rate of 16%.

Simplity and express with positive indices: [xj:iit};rj [13:_1}:12:?;]'2 :é,c.!fl}a;";-;if.._.aiﬁ;ﬂg:-fﬁ? (iv)
253,:'} :zs;.r% . ™)
Simplify: 1 1 gf/ﬂ
20y 4 20y 4 )
Write in the decimal form: 0.525%1077 0.525x 1077 :JJLPJ:-JL&H (vi)
Find the missing element of AP by the formula: 3=2,08,=402, n=26 Zgg[‘:f‘"ﬁ"(:‘”tﬁ'h}* ;:.MJJ (vii)

Find A.M. between X% 4+ x+1 and X% —x +1

«-é’g-r«!l""kﬂdzwk‘.ué: xZ—x+1 af x24x +1  (viii)
a=2,r=3 Sigkeld s L) 2 (ix)
Attempt any SIX parts: :;‘ﬂ,ﬂlzq;.(j/

| G A® JMA=(2,3,5,7) 4 U={1,2,3,4,5 6. 7,880 )
IfU={1,2,3,4,5,6,7,8) and A = {2, 3, 5, 7} then find A

IfA={2,3,4,5) am:JI B=1{2,4,6,8} thenfind A-B -gi.’r'.’""‘ A-B /M B= {2,4,6,8} » A= {2,3,4, 5}/"1 (ii)

IfA={1,2,3,4} and B= {7, 8,9, 10} then find AUB __ér)v-ﬁUB #n B={7,8,9,10) AA=11,234 i)

Find the 5th term of G.P in which: a=2 ,r=13

Write the coordinates of origin. &l =nisf e (iv)

Represent the point .B (3, 2) on the graph. #éﬁiﬁ{hﬂﬁ B(3,2) (v)
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